
34

REVISION

SHEET

REV STATUS
OF SHEETS

12

  OceanTRxTM7 SERIES MECHANICAL INTERFACE CONTROL DRAWING
2.2m Tx/Rx C/Ku/Ka BAND STABILIZED

 ANTENNA SYSTEM

---

BASE RING'S 10 SIDE 
MOUNTING HOLES

SYSTEM BASE RING'S 14 CENTRAL
MOUNTING THREADS

S5496FINISH

x 45°
CHAMFER EDGES

±

DO NOT SCALE DRAWING
ANGULAR
LIN. DIM.

HOLES LOC.
DECIMALS

DIMENSIONS ARE IN

UNLESS OTHERWISE SPECIFIED

DATESIGN.

DESIGN

CHECK

DRAWN

CONTRACT NO.

SCALE 

DWG. NO.FSCM NO.

OFRELEASE DATE

SIZE

ASSEMBLY

SUB. ASSEMBLY

TITLE

ZONE REV.

REVISIONS

DESCRIPTION DATE APPROVED

1234

4 3 2 1

A

C

DD

C

B

C

±
±

DCD29-0935-2
1:10

Ervin

Sheet1 4
Ocean TRxTM7

Ocean TRx TM 7
ERVIN

mm

0.1
0.5
0.5

0.5

125

29.04.13

29.04.13

WEIGHT -

PART LIST

29.04.13NEW RELEASE-

Ocean TRx TM 7 SYSTEM ICD
-

ORBIT

    

[m   ]in

PROPRIETARY DATA

party without written authorization
from ORBIT Communication ltd.

Information contained herein is the sole

and it may not be passed to any other

property of ORBIT Communication ltd.
and is not for publication, duplication

B

 1000 MIN  

B

B

D

D

BASE RING

CUSTOMER MAST 
(PROVIDED BY

CUSTOMER)

NOTES:
1. CUSTOMER MAST SHOULD FIT TO THE SYSTEM BASE RING HOLES 
    18 "B" AND TREADS M16x2 "A", ADEQUATE BOTTOM HATCH
     AND AIR CONDITION OPENINGS. SEE DIMENSIONS IN SHEET 2.

2. CUSTOMER MAST HEIGHT SHOULD BE AT LEAST 1M FROM THE SHIP FLOOR, 
    IN ORDER TO ALLOW ACCESS TO THE SYSTEM MOUNTING FROM BELOW AND 
    PERSONAL ENTRANCE THROUGH THE BOTTOM HATCH. 

3. REQUIRED FLATNESS OF THE MOUNTING SURFACE OF THE TOP 
    PLATE OF THE MAST SHOULD BE LESS THAN 1 mm.

DECK

RECOMMENDED  

RECOMMENDED  

-

1

 25mm
.98in

 

 4.7mm
.19in

 
 60mm

2.36in
 

SECTION B-B 
SCALE 1 : 4

SCREWS FOR HOLES "B"
(SEE PAGE 2)

M16X2
DEPTH 45mm

(SEE PAGE 2 MARKED "A")

 90mm
3.54in

 

H 45mm
1.77in

SECTION D-D 
SCALE 1 : 4

FOR 14 HOLES "A"

SCREWS FOR TREADS "A"
(SEE PAGE 2)

meir.alfasi
ORIGINAL

meir.alfasi
ROHS

avi.gordani
AVI

aliza.stone
Approved



NOTES:
 SYSTEM BASE RING'S 10 SIDE MOUNTING HOLES (18mm DIA "B" )1.

         ALLOW THE MOUNTING OF THE SYSTEM FROM ABOVE (SEE SECTION B-B PAGE1),
         BY USING EXTERNAL BOLTS AND MATCHING WASHERS. 
         TRUE POSITION FOR LOCATION OF THESE HOLES ARE 1mm.
2.      SYSTEM BASE RING'S 14 CENTRAL MOUNTING THREADS (M16X2 "A" )
         ALLOW THE MOUNTING OF THE SYSTEM FROM BELOW (SEE SECTION D-D PAGE1), 
         BY USING CENTRAL BOLTS AND MATCHING WASHERS.
         TRUE POSITION FOR LOCATION OF THESE HOLES ARE 1mm.

3.       THERE ARE TWO DIFFERENT M16 SCREWS LENGTH (SUPPLIED WITH SYSTEM KIT INSTALLATION):
3.1     FOR "SYSTEM BASE RING'S 10 SIDE MOUNTING HOLES" THE THRU HOLES ARE 18mm DIA "B":
3.1.1  THE 10 SCREWS WHICH ARE SUPPLIED BY ORBIT (M16X60mm) 
         SUPPORT CUSTOMER MAST TOP PLATE WITH THICKNESS OF 25 mm. (SEE PAGE 1 SECTION B-B).
3.2    FOR "SYSTEM BASE RING'S 14 CENTRAL MOUNTING THREADS" THE THREADS ARE M16X2 "A":
3.2.1 THE SCREWS LENGTH (L) SHOULD SATISFY THE FOLLOWING CONDITION: L=H+45mm
         WHERE "H" IS CUSTOMER MAST TOP PLATE WIDTH.  THE SCREWS LENGTH (L) 
         MAY VARY IN THE RANGE OF: 4mm.
3.2.2 THE 14 SCREWS WHICH ARE SUPPLIED BY ORBIT (M16X90mm) 
         SUPPORT CUSTOMER MAST TOP PLATE WITH THICKNESS OF 45 mm. (SEE PAGE 1 SECTION D-D).
3.3    SCREWS MATERIAL SHOULD BE STAINLESS STEEL GRADE A2. 
3.4    RECOMMENDED TIGHTENING TORQUE IS: 88 LbxFt /120 NxM /1056 LbXInch.

4.      THE CUSTOMER MAST SHALL HAVE A NATURAL FREQUENCY OF NOT LESS THAN 30 Hz

5.      WEIGHT DISTRIBUTION:
5.1    IN THE EXTERNAL PART OF THE SYSTEM BASE RING MARKED AS - REGION" V"- IS 150Kg
5.2    IN THE CENTER PART OF THE SYSTEM BASE RING MARKED AS -REGION "S"- IS 500Kg

6.      THE MARKED BLACK AREAS SHOULD BE LEAVED FREE, FOR
         AIR CONDITIONER INLET TUBES (IF USED) AND FOR
         EASE ACCESS TO THE BOTTOM HATCH AND IT'S LATCHES.

THE RECOMMENDED  CUT OUT 
FOR HOLES ON THE TOP PLATE OF THE MAST 

CUSTOMER TOP PLATE WITH THE
 BASE RING FOOT PLATE

ZONE REV.

REVISIONS

DESCRIPTION DATE APPROVED

1234

4 3 2 1

A

C

DD

C

B

A

A
L-

TI
TL

E:

D
W

G
.N

o.
R

EV
.

SH
EE

T

RELEASE DATE

S5496
REV.

FSCM NO.C

TITLE

DWG. NO.

SCALE 

DRAWN

CHECK 1:10
ERVIN DCD29-0935-2

Sheet2 4OF

Ocean TRx TM 7 SYSTEM ICD

29.04.13

- NEW RELEASE 29.04.13

ORBIT

 Communication Systems ltd.
 without written authorization from ORBIT
and it may not be passed to any other party
and is not for publication, duplication and it may
property of ORBIT Communication Systems  ltd.
Information contained herein is the sole

PROPRIETARY DATA

 1966mm 
 77.4in 

FOR HOLES  "B"
EQ.SP on 1966mm

10X  19mm[0.75in] 0[0]
+0.50[0.02] THRU ALL

 650mm typx2
 25.59in 

 542mm 

typx3
 21.34in 

 442mm 

typx2
 17.4in 

 100mm 

typx2
 3.94in 

 724mm 

typx2
 28.5in 

 100mm 

typx2
 3.94in 

FOR HOLES "A"
14X  19mm[0.75in] 0[0]

+0.5[0.02] THRU ALL

1780mm
70.08in

588mm
23.15in

R890mm
35.04in

289mm
11.38in

502mm
19.76in

251mm
9.88in

38mm

typx2
1.5in

588mm
23.15in

294mm
11.57in

50mm
1.97in

1880mm
74.02in

125.02mm
4.92in

80mm

typx10
3.15in

 300mm
11.81in

 

574mm
22.6in
TYP

127mm
5in

 578mm
22.76in

 

B

B

B

B

B B

B

B

B

B

A

A

A

A
A

A

A
A

A

A

A

A

OPENING DIMENSIONS
IN CUSTOMER'S SUPPORT 
TO ALLOW RADOM BASE
HATCH APPROACH.

REGION "V"
see notes

REGION "S"
see notes

OPENING FOR 
 AIR CONDITIONER
 INLET TUBE

OPENING FOR 
 AIR CONDITIONER
 INLET TUBE

CABLE OPENING

5

2



SYSTEM BASE RING 
(BOTTOM VIEW)

ZONE REV.

REVISIONS

DESCRIPTION DATE APPROVED

1234

4 3 2 1

A

C

DD

C

B

A

RELEASE DATE

S5496FSCM NO.C

TITLE

DWG. NO.

SCALE 

DRAWN

CHECK 1:10
ERVIN 29-0935-2

Sheet3 4OF

Ocean TRx TM 7 SYSTEM ICD

29.04.13

- NEW RELEASE 29.04.13

ORBIT

B

 Communication Systems ltd.
 without written authorization from ORBIT
and it may not be passed to any other party
and is not for publication, duplication and it may
property of ORBIT Communication Systems  ltd.
Information contained herein is the sole

PROPRIETARY DATA

 (M16X2) 

SECTION F-F 
SCALE 1 : 2

 6mm
.24in

 

133.54mm
5.26in

SECTION R-R 
SCALE 1 : 4

 AIR
 CONDITIONER
 INLET TUBE

BASE RING

442mm

 typx2
17.4in

100mm

typx2
3.94in

650mm

typx2
25.59in

724mm

typx2
28.5in

542mm

typx3
21.34in

502mm
19.76in

688mm
27.09in

10x 18mm THRU

EQ.SP on 1966[77.4in]
.71in

FROM BELLOW
M16X2.0  - 6H THRU ALL

14x  14mm[0.55in]  THRU ALL

100mm

typx2
3.94in

1880mm
74.02in

 724mm
28.5in

 

 1448mm
57.01in

 

588mm
23.15in

1966mm
77.4in

329mm
12.95in

R

R

F

F

B

B B

B

B

B

BB

B

B

ACCESS OPENING INTO
THE RADOME

A

A
A

A

A
A

A
A

A

A
A

A

A

A A

A

 AIR CONDITIONER
 INLET TUBE 5" DIA

BASE RING

 AIR CONDITIONER
 INLET TUBE

1

0.5



ZONE REV.

REVISIONS

DESCRIPTION DATE APPROVED

1234

4 3 2 1

A

C

DD

C

B

A

A
L-

TI
TL

E:

D
W

G
.N

o.
R

EV
.

SH
EE

T

RELEASE DATE

S5496
REV.

FSCM NO.C

TITLE

DWG. NO.

SCALE 

DRAWN

CHECK 1:10
ERVIN DCD29-0935-2

Sheet4 4OF

Ocean TRx TM 7 SYSTEM ICD

29.04.13

- NEW RELEASE 29.04.13

ORBIT

 Communication Systems ltd.
 without written authorization from ORBIT
and it may not be passed to any other party
and is not for publication, duplication and it may
property of ORBIT Communication Systems  ltd.
Information contained herein is the sole

PROPRIETARY DATA

1880mm

OUTSIDE DIAMETER
 OF BASE RING

74.02in

50mm
1.97in

2602mm  MAX
102.44in

2700mm MAX
106.3in

 21mm
.83in

 

 824mm
32.44in

 

M MY
X

CG
 21mm

.83in
 

 6mm
.24in

 

SECTION M-M 
SCALE 1 : 16

X

Z

 AIR CONDITIONER
 INLET TUBE

 AIR CONDITIONER
 INLET TUBE

LATCHES SCREWS

BOTTOM HATCH
ACCESS OPENING COVER

SCREWS  M16X2-90mm
FOR A THICKNESS OF THE 

CUSTOMER MAST TOP PLATE 
OF 45 mm SEE SECTION D-D 

FROM PAGE 1

CG

SCREWS M16X2-60mm
FOR A THICKNESS 
OF THE CUSTOMER MAST
 TOP PLATE OF 25 mm
SEE SECTION B-B FROM PAGE 1



